
Fax Option Type 3352 
(D596-01/02/03) 

 G3 Interface Unit Type 3352 
(D596-11/12) 



 

 

 

  1.Fax Option (D596-01/02/03)................................   2 

  2.G3 Option (D596-11/12) ......................................   4 

  3.Handset/Memory (D593-71/G578) ......................   6 

 Parts index .............................................................   9 

Fax Option Type 3352 (D596-01/02/03) 
G3 Interface Unit Type 3352 (D596-11/12) 

 
PARTS CATALOG 

 
This catalog gives the numbers and names of parts on this machine. 

 
CONTENTS 

August 24, 2011 



2 

 

1.Fax Option (D596-01/02/03) 

SUPER

G3

103

5

101
4

3

101

101

1

2
102

102

102

104 6

7 8

Ed O'Brien
RTB 4

Ed O'Brien


Ed O'Brien




3 

 1 D596 5192  PCB:FCU:NA:Service Parts:Ass'y 1 

 1 D596 5194  PCB:FCU:EU:Service Parts:Ass'y 1 

 2 D120 5731  Panel:Fax:Option 1 

 3 B779 5272  Harness:Speaker:Connecting 1 

 4 B771 5050  Speaker 1 

 5 D120 5741  Bracket:G3G4 1 

 6 B404 3861  SG3 Decal 1 

 7 H523 5350  Telephone Cable (NA Only) 1 

 8 D120 1528  Keytop:Copy:NA 1 

 8 D120 1530  Keytop:Trans:NA 1 

 8 D120 1534  Keytop:Copy:EU 1 

 8 D120 1536  Keytop:Trans:EU 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 101 0360 3006N Screw - M3x6  

 102 0451 3006N Tapping Screw - 3x6  

 103 1105 0516  Clamp  

 104 1607 2251  Ferrite Coer:K3 NF-75(N)BK0  

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per
Assembly

Part No. 
Index 
No. 

1.Fax Option (D596-01/02/03) 

O'Brien
Item 1
RTB 3

O'Brien
Item 6
RTB 4: Deleted



4 

 

 

2.G3 Option (D596-11/12) 

4

101

2

101

101

1

3



5 

 1 B768 5140  PCB CCUIF 1 

 2 B713 5172  PCB:SG3-NEO:NA 1 

 2 B713 5174  PCB:SG3-NEO:EU 1 

 3 D596 5240  Harness:FCU-CCU 1 

 4 H523 5350  Telephone Cable (NA) 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 101 0360 3006N Screw - M3X6  

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per
Assembly

Part No. 
Index 
No. 

2.G3 Option (D596-11/12) 



6 

 

 

3.Handset/Memory (D593-71/G578) 

1

Handset Type 3352

Memory Unit Type B 32MB

2

3

101 102 103 104

5



7 

 1 D593 5071  Hand Set:IG:390:NA:Ass'y 1 

 2 D593 1010  Bracket:Hand Set 1 

 3 B447 5182  PCB:SDRAM-DIMM:32MB:PC100 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 101 0360 4012N Screw:M4x12  

 102 0360 3006N Screw - M3X6  

 103 0802 5320  Hexagon Head Tapping Screw:ES:3x10  

 104 1607 2251  Ferrite Coer:K3 NF-75(N)BK0  

 

 

 

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per
Assembly

Part No. 
Index 
No. 

3.Handset/Memory (D593-71/G578) 



 

 

Parts Index 



10 

D596 5192  PCB:FCU:NA:Service Parts:Ass'y   3 -   1 

D596 5194  PCB:FCU:EU:Service Parts:Ass'y   3 -   1 

D596 5240  Harness:FCU-CCU   5 -   3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

B404 3861  SG3 Decal   3 -   6 

B447 5182  PCB:SDRAM-DIMM:32MB:PC100   7 -   3 

B713 5172  PCB:SG3-NEO:NA   5 -   2 

B713 5174  PCB:SG3-NEO:EU   5 -   2 

B768 5140  PCB CCUIF   5 -   1 

B771 5050  Speaker   3 -   4 

B779 5272  Harness:Speaker:Connecting   3 -   3 

D120 1528  Keytop:Copy:NA   3 -   8 

D120 1530  Keytop:Trans:NA   3 -   8 

D120 1534  Keytop:Copy:EU   3 -   8 

D120 1536  Keytop:Trans:EU   3 -   8 

D120 5731  Panel:Fax:Option   3 -   2 

D120 5741  Bracket:G3G4   3 -   5 

D593 1010  Bracket:Hand Set   7 -   2 

D593 5071  Hand Set:IG:390:NA:Ass'y   7 -   1 

H523 5350  Telephone Cable (NA Only)   3 -   7 

H523 5350  Telephone Cable (NA)   5 -   4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Parts Index 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No.

Part No. 



11 

0360 3006N Screw - M3x6   3 - 101 

0360 3006N Screw - M3X6   5 - 101 

0360 3006N Screw - M3X6   7 - 102 

0360 4012N Screw:M4x12   7 - 101 

0451 3006N Tapping Screw - 3x6   3 - 102 

0802 5320  Hexagon Head Tapping Screw:ES:3x10   7 - 103 

1105 0516  Clamp   3 - 103 

1607 2251  Ferrite Coer:K3 NF-75(N)BK0   3 - 104 

1607 2251  Ferrite Coer:K3 NF-75(N)BK0   7 - 104 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No.

Part No. 


	1.Fax Option (D596-01/02/03)
	2.G3 Option (D596-11/12)
	3.Handset/Memory (D593-71/G578)
	Parts Index

